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===Welcome to basic-PROLOG===

Load(zU4)

List
1+append(Oxl X, kY, kL I%Z2]), append kX, XY, *2)
2+append (L], xY,xY)
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np—REFCAFAELMNZ 5 L LT THD ThHIEE— v Hik— 2 LEREE Y AbwT
vp—-BEFCEE e : 5 LEHEATH D &K 66KB £ CHETES, Lo T, H
det—[REFTH D R+ 28EEEE 4+ h 13 PROLOG 7w 75
noun—4£Zs¢H 5 LEZFLBRTE %,

aux— BB TH 5



— g4 —
& $ basic-PROLOG v 2 5 A
UToF w77 52BN LTRHBT 21003, BEEE LEESCENCERT3 LI TRy,

1000 *===basic-PROLOG (v.1.0)==
1010 !

1020 'Arata Ichikawa

1030 ‘'Faculty of Economics, Ryutsu Keizai University

1040 'Ryugasaki 301, Japan. Tel. (297&) 2-3251

1080 ‘'Copyright <(C) 1985 by Arata Ichikawa. ALL rights reserved.
1040 !

1070 '===TOP LEVEL===

1080

1090 'CONFIGURATION

1100 DEFINT A~Z: T=-1: F=0: MHC=100: MCS=100: GA=300

1110 DIM H$(MHC), CG(MCS)>, CL(MCS), CH(MCS), S$CGAY., AD$C2), DTH()
1120 HA=GA-1: MSS=GA-2: CSS=MSS: NHC=0: TS=F

1130 DEF FNDC(Al$>=A1$>="0" AND Al$<="o"

1140 MS1$='"Horn space over.": MS2$="Input rejected."

1150 CLS: PRINT "===Welcome to basic-PROLOG==="
1160 °*

1170 *SYSTEM INPUT

1180 FOR M1=0 TO GA: S$Mli="": NEXT: F1!=FRECQ)

1190 BEEP: LINE INPUT S$<(0>: GOSUB 3570: IF M1=0 THEN 1190
1200 B1$=LEFT$(S$C0>.1>:IF Bls$="+" THEN GOSUB 348C: GOTO 1190
1210 IF FNDC(B1$> THEN GOSUB 3720: GOTOD 1190
1220 IF B1$<>"," THEN GOSUB 3840: GOTO 1190
1230 IF TS>1 THEN LPRINT S$(O
1240
1250 '===CONTROLLER===
1260 !
1270 ‘'DOWN GOAL
1280 U=0: UL=0: VR=0: GOSUB 3090: CGCUL>=0: CLCUL>=1: CHCUL>=0
1290
1300 'UP GOAL
1310 AT=CGCULY: LG=CLCULY: IF S$CATY<>''" THEN 1360
1320 IF LG>1 THEN CGCUL>=AT-1: CLCULY>=LG-1: GOTOD 1310
1330 BEEP: PRINT: LINE INPUT "YES! ?="; B1$: IF TS THEN LPRINT "YES! ?="; Bl$
1340 IF B1$<O"n" THEN 1620 ELSE 1180
1350 !
1360 AM=AT: GOSUB 2790: AT1=AMl: AT2=AM2
1370 G$=MIDS(S$C(AT),2,AT1-1)
1380 IF TS>3 THEN LPRINT "G'"; MID$C(STR$CUY,2): S$CATY ELSE 1400
1390 IF LG>1 THEN FOR M1=1 TO LG-1: LPRINT S$C(AT-M1): NEXT
1400 IF TS THEN PRINT “>'";
]

1410

1420 *CONTROL OF BACKTRACKING

1430 IF G$="!" THEN GOSUB 3170: GOTO 1310 ELSE IF G$="fail" THEN 1620
1440 °*

1450 ‘UP HORN

1460 IF LENC(G$><>3 THEN 1540 ELSE B1$=MID$(S$CAT).2,AT1L)

1470 M1=AT2-AT1-2: IF M1>0 THEN S$(GAY=MID$(SS$(AT).AT1+2.M1> ELSE S$(GAd=""
1480 IF G$="prt" THEN GOSUB 3390: GOTO 1310

1490 IF G$="1inp" THEN 2240

1S00 IF INSTR("add(sub(mul{div(mod('"',B1$> THEN 2320

1510 IF INSTR("egn(nendltn<len(gtnlgen(",B1$> THEN 2500

1520 IF INSTR("egalnea(lta(lealgtalgead",B1$)> THEN 2640

1530 !

1540 IF NHC=0 THEN 1620

1550 HD=CHCUL)>

1560 IF HD>=NHC THEN CHCUL>=0: GOTO 1620

1570 SWAP S$(HAY . H$(HD)Y: AM=HA: GOSUB 2790: HD1=AM1l: HD2=AM2

1580 SWAP H$(HD),S$CHAY: IF G$=MIDSC(H$S(HD),2.HD1-1> THEN CHAULY=HD+1: GOTO 1690
1590 HD=HD+1: GOTO 1560

1600 ¢

1610 'BACKTRACKING

1620 IF TS THEN PRINT "<¢'';



1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1840
1870
1880
1890
1900
1910
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1930
1940
1950
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1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
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IF UL=0 THEN M$="NO!': GOSUB 3350: GOTO 1180
U=U-1: UL=UL-1: FOR M1=CGCUL>+1 TO AT: S$(MI1>="': NEXT: GOTC. 1310

'===UNIFICATION===

]

'DISAGREEMENT

S$(GAY=MID$(SSCATY, AT1+1,AT2-AT1): S$(HA>=MID$(HS(HD) ,HD1+1,HD2-HD1>
U=U+1: UL=UL+1: VR=HA: GOSUB 3090

IF ULDMCS THEN M$="Control space over.': GOSUB 3350: GOTO 1180

]

*MATCHING

CSS=MSS

M1=0

M1=M1+1: IF S$(GAY=S$(HA) THEN 2050
B1$=MID$(S$(GAY M1,1): B2$=MID$(S$(HA>, M1, 1D
IF B1$=B2$ AND INSTRC"(>,.[JI1".B1$> THEN 1760
IF B1$="" DR B2%="x" THEN 1850

IF B1$=""'" AND B2$=""'" THEN 1850

IF B1$="1" OR B2$=""1" THEN 1980

IF B1$=B2% THEN 1760

U=U-1: UL=UL-1: CSS=MSS : GOTO 1540

'

S$(GAY=MIDS(S$(GAY . M1D: S$(HAY=MIDS(S$(HAD>, M1

TM=GA: GOSUB 2890: B3$=MIDS(S$(GAY,1.TML): S$(GA>=MID$(SE(GA>,TM1+1>
TM=HA: GOSUB 28%90: B4$=MIDS(SSCHAY,1,TM1Y: S$CHAY=MIDS(SS$(HA> , TML1+1>
IF B3$=B4$ THEN 1750

IF B1$="%x" OR B2%$="x" THEN 1910

IF VAL(MID$(B3$,2))=VAL(MID$(B4$,2>> THEN 1750 ELSE 1830

IF CSS-2>AT THEN 1930

M$="Unification space over.'': GOSUB 3350: GOTO 1180

IF B2¢$="%" THEN SG=HA ELSE SG=GA: SWAP B3$.B4$

S$(CSSHY=B4$: S$H(CSS-1)=B3$: ST=CSS: GOSUB 3000

CSS=CSS-2: GOTO 1750

L]

'LIST TO DOOT

S$(GAY=MID$(SS(BA) M1+1): S$HAI=MIDS$(SE(HA> . M1+1>

IF B1$="1" THEN M2=HA ELSE M2=GA

IF B81$="]" OR B2%$="]" THEN S$(M2)="[]]"+S$(M2>: GOTO 1750
S$M2O="["+S$(M2>: TM=M2: GOSUB 28%0

S$(M2)=LEFT$(S$(M2), TM1Y+"]"+MIDSC(S$(M2), TM1+1>: GOTO 1750

'*MATCH

M1=AT+LG+1: IF TS>2 THEN LPRINT "H"; MID$(STR$CHD).2>: H$HDD

IF M1>=CSS-1 THEN M$="Search space over.": GOSUB 3350: GOTO 1180
S$(ML)=MIDS(H$(HDY,HD2+1>: VR=M1: GOSUB 30%0
S$(M1-1>=MIDS(SSC(ATY,AT2+1>

IF LG<>1 THEN FOR M2=1 TO LG-1: S$(M1-1-M2)=S$(AT-M2)>: NEXT
CHCULY=0: IF S$ML1-1>O0 THEN CGCULY=M1: CLCUL>=LG+1: GOTO 2150
S$(M1-1)>=S$(M1)>: CGUL>=M1-1: CLCUL>=LG

'===SUBSTITUTION===

IF CSS=MSS THEN GOTO 1310

FOR ST=MSS TO CSS-2 STEP -2

FOR SG=CGC(ULY TO CGCULY-CLCUL>+1 STEP ~1: GOSUB 3000: NEXT
S$(STH=""1 S$(ST-1O=""

NEXT: CSS=MSS: GOTO 1310

'===BUILT-IN PREDICATES===

1)

'inp( )

IF MID$CS$CBAY,1.1><> " THEN 1620

TM=GA: GOSUB 2890: S$(CSSI=LEFT$(SS(GAY, TML)

BEEP: LINE INPUT "7 "; B1$: MI=LENCB1$>: IF MI<1 THEN 2290

IF INSTR(B1S." "> THEN 2250

S$(CSS-1)=B1$: CSS=CSS-2: S$CATI=MID$CS$(ATY . AT2+1)>: GOTO 2150
PRINT MS28$: GOTOD 2260
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2300 -

2310 ‘*arithmetic +-x/..

2320 FOR M2=0 T0 2: Ml=F

2330 IF M2<2 AND MID$C(S$(GAY.1,1X " THEN Ml=T: M2=2: GOTO 2370
2340 IF M2=2 AND MID$(S$CBAY.1,12<> """ THEN M1=T: M2=2: GOTO 2370
2350 M3I=INSTR(S$(GAY,",'">: IF M2<2 THEN DT#(M2)=VQL<MID$(S$(GA).2,M3—2>)
2340 IF M2=2 THEN AD$(2>=S$(GA> ELSE S$CGAY=MIDS(SH$(GAY,M3+1)
2270 NEXT: IF M1 THEN 1620

2380 IF G$="add" THEN DTH(2>=DTH(O)+DTH(1>: GOTO 2430

2390 IF G$="sub'" THEN DTH(2)=DTHO>-DTH(1>: GOTO 2430

2400 TIF G$="mul' THEN DTH(2)=DTH(O>*DTH(1): GOTO 2430

2410 IF G$="'div' THEN DTH(2)=DTHC(O)/DTH(1): GOTO 2430

2420 IF G3="mod" THEN DTH(Z)>=DTH(0> MOD DTH(L): GOTO 2430 ELSE 1620
2430 B1$=STR$(DTH(2>)>: Ml=1

2440 M1=INSTR(M1.B1$.," '

2450 IF M1 THEN B1$=LEFT$(B1$, M1-1D+MIDS(BLIS . M1+1): GOTO 2440
2460 S$(CSSY=A0$(2): S$(CSS-1>="""'"+B1%: CSS=CS8S-2: SECATY=MIDS(SS$C(ATY AT2+1)
2470 GOTO 2150

2480 °*

2490 ‘*‘numeric <O=..

2500 FOR M2=0 TO 1: Ml=F

2510 IF MID$(S$CGAY.1,1>HM ! THEN M1=T: M2=1: GOTO 2510

2520 M3=INSTR(S$(GAY,",">: IF M3=0 THEN MIZ=LEN(S$(GA>>+1

2530 DTH(M2)=VAL(MID$(SB(GA),2.M3-20) " S$(GAY=MIDS(S$C(GAY , M3+1)
2540 NEXT: IF M1 THEN 1620 ELSE S$C(ATY=MIDS(S$CAT)Y,AT2+1)D

2550 IF G$="eqn' THEN IF DTHCO>=DTH(L) THEN 1310 ELSE 1620

2560 IF G$='nen' THEN IF DTHCOY>DTH(LY THEN 1310 ELSE 1620

2570 IF G$="Ltn" THEN IF DTHCO><DTH(1> THEN 1310 ELSE 1620

2580 IF G$='"'Len'" THEN IF DTHC(OY<=DTH(1)> THEN 1310 ELSE 1620

2590 IF G$="gtn'" THEN IF DTHCOY>DTHC1Y THEN 1310 ELSE 1620

2600 IF G$="gen' THEN IF DTH(0>>=DTH(1)> THEN 1310 ELSE 1620

2610 GOTO 1620

2620 !

2630 'alphabetic <O=..

2640 IF INSTR(S$CGAY.'"x") THEN 1620

2650 FOR M1=0 T0 1

2660 TM=GA: GOSUB 28%90: A0$CM1)=LEFT$(S$(GAY, TM1: S$C(GAY=MID$(S$C(GA>, TML1+2>
2670 NEXT: S$CATY=MIDS(S$C(AT)Y,AT2+1)

2480 IF G$="eqa" THEN IF AO0$C0>=A0$C(1> THEN 1310 ELSE 1620

2690 IF G$="nea" THEN IF AD$C0><>A0$C1> THEN 1310 ELSE 1620

2700 IF G$="Lta" THEN IF AO$C0Y<AD$C1> THEN 1310 ELSE 1620

5210 IF G$='""Lea" THEN IF AD$(0><=A0$C(1> THEN 1310 ELSE 1620

2720 IF G$="gta" THEN IF AD$CO>>A0$C1> THEN 1310 ELSE 1620

2730 IF G$="gea' THEN IF AO0$C0>>=A0S(1D THEN 1310 ELSE 1620

2740 GOTO 1620

2750 !

2760 '===SUBRIUTINES===

2770 °*

2780 'UP ATCOM

5290 N1=LEN(S$CAMY)Y: AM1=N1: AM2=AM1: N2=0: IF N1<2 THEN RETURN
2200 FOR N3=2 TO N1: A1$=MID$(SSC(AM)>.N3.1)>: N4=INSTRC", ()", A1$D
2810 IF N4=0 THEN 2850

2990 IF N4=1 THEN IF N2=0 THEN AM1=N3-1: AM2=AM1: N3=N1

2830 IF N4=2 THEN IF N2=0 THEN N2=1: AM1=N3-1 ELSE N2=N2+1

2840 IF N4=3 THEN IF N2<2 THEN AM2=N3: N3=N1 ELSE N2=N2-1

2850 NEXT: IF AM2<AM1 THEN AM1=AMZ

2860 RETURN

2870 !

2880 'UP TERM

2890 NL1=LEN(S$CTMY)>: N2=0: Al$=MID$(S$(TM),1.1>: TM1=0

2900 IF Al1$="[" THEN N&=1: A2$="t[": A3Z$="1"" ELSE N&=0: AZ$="1(": A3=""D"
2910 FOR N3=1 TO N1

2920 Al1$=MID$(S$(TM),N3,1)

2930 IF N4=0 AND N2=0 AND INSTRC",11>",Al$)> THEN TM1=N3-1: N3=Nl
2940 IF A1$=A2% THEN N2=N2+1

2650 IF, A1$=A3$ THEN N2=N2-1: IF N2=0 THEN TM1=N3: N3=N1

2940 NEXT: IF TM1=0 THEN TM1=N1



2970
2980
2990
3000
3010
32020
3030
3040
3050
3060
3070
2080
3090
3100
3110
2120
3130
3140
3120
3160
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3180
3190
3200
3210
3220
3230
3240
3250
3240
3270
3280
3290
3300
3310
%320
3330
3340
3250
33460
3370
3380
3390
3400
3410
3420
3430
3440
2450
2460
3470
3480
3490
3500
3510
2520
3530
33540
3550
35690
2570
z580
3590
2600
3610
3620
Z630
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RETURN

L}

*SUBSTITUTION-O

N1=LENCS$(ST)): N2=LENCS$(ST-1>>: IF N1=0 THEN RETURN
N3=1

N3=INSTR(N3,S$(SG)Y,S$(STY>: IF N3=0 THEN RETURN
A1$=MID$(S$(SGY,N3+N1,1>: IF Al$="" THEN 3050

TF INSTRC',)>-711¢",A1$>=0 THEN N3=N3+N1: GOTC 3020
S$CSGI=LEFT$(S$(SG)  N3-1)+S$(ST-1>+MIDS(S$(SG) , N3+N1D
N3=N3+N2: GOTGQ 3020

'VARTIABLE RENAMING

N1l=1

N1=INSTRC(N1,S$CVR)Y, "x'">: IF N1=0 THEN RETURN

N1=N1+1: A1$=MIDS(S$C(VRY.N1,1>: IF Al$=""" THEN 3130
IF INSTRC".>J1¢",AL$>=0 THEN 3110
S$(VR)=LEFT$(S$(VR),N1—1>+”.”+MID$(STR$(U).2)+MID$<S$(VR),Nl)
N1=N1+3: GOTO 3100

‘strong cut !

SECATI=MIDS(SSCATY AT2+1>: IF TS THEN PRINT R AL
N1=0: N2=0: IF UL=0 THEN RETURN

FOR N3=UL TO O STEP -1

N4=0

FOR NS=CG(NZ)-CL(N3>+1 TO CG(N3)

N6=0

Né=Né+1: IF INSTR(NG,S$(NSY,'"''"> THEN Né=N4+1: GOTO 3230
NEXT

IF N3=UL THEN N2=N4

IF N3<UL AND N2=N& THEN N1=N3: N3=0

NEXT

N2=CG(N1Y-CL(N1>: N3=AT-LG

FOR N4=1 TO LG: SWAP S$(N2+N4&) ., SS(N3+N4> 1 NEXT

FOR N4=N2+LG+1 TO AT: S$(N&>="""1 NEXT

COCNLIY=N2+LG: CL(N1D=LG: CH(NL>=CHUL>: UL=N1: RETURN
RETURN

[}

'PRINT RTN

PRINT: PRINT M$: IF TS THEN LPRINT M$

RETURN

)

‘pric .. D

GOSUB 3450: Nl=1

N1=INSTR(NL.S$CGAY, ™", ") : IF N1>0 THEN MIDS(S$CGAY,N1.1>=" '":

PRINT: PRINT S$(GAY: IF TS THEN LPRINT S$(GAD
S$CATI=MIDS$(SSCATY,AT2+1): RETURN
1

‘DOT TO LIST

N1=1

N1=INSTR(NL,S$CGAY,"I">: IF N1=0 THEN RETURN

IF MID$(S$CGAY,N1+1,1)><>"[" THEN N1=N1+2: GOTO 3460
NZ2=LEN(S$(GAYY: N3=0: N5=0

FOR N4=N1+1 TO N2: Al$=MID$(S$(GAD N4, 1>

IF Als="[" THEN N3=N3+1

IF A1$="1]" THEN N3=N3-1: IF N3=0 THEN N5=N&4: N4=NZ
NEXT: IF N1+2=NS THEN A2$="" ELSE AZ$=","

IF NS=0 THEN 3460

—d7 —

GOTO 3400

S$<GA)=LEFT$(S$(GQ),N1~1>+Q2$+MID$(S$(GA),Nl+2,NS—N1-2)+MID$(S$(GQ),N5+l)

GOTO 3460

'INPUT CHECK

M1=0: N1=1

N1=INSTR(NI,S$CO>," ">: IF N1=0 GOTO 3610
S$COY=LEFTS(S$HC0Y . N1-1)+MID$(S$CO> . N1+1>: GOTO 3590
N2=0: N3=1

N3Z=INSTR(N3,S$C0), "'y IF N3 THEN N2=N2+1: N3=N3+1: GOTO 3620

IF N2>=2 THEN 3650



3640
3650
3660
3670
3680
3690
3700
3710
3720
3730
3740
3750
3760
3770
3780
3790
3800
3810
3820
3830
3840
3850
3860
3870
2880
3890
3900
3910
3920
3930
3940
3950
3940
3270
3380
3990
4000
4010
4020
4030
4040

IF LEN(S$C0>>>=1 THEN Ml=1: RETURN
PRINT MS2$: RETURN
]

*'STORING HORN CLAUSES

IF NHC>MHC THEN PRINT MS1$: RETURN
H$ (NHC>=S$(0)>: NHC=NHC+1: RETURN

'

'UPDATE HORN CLAUSES
N1=0: N2=1
AL$=MID$(S$C0>.N2,1>. IF NOT FNDC(A1$> THEN 3750

N1=N1%*10+VAL(A1$>: N2=N2+1: GOTO 3730

N1=N1-1: IF N1<O OR NI1>=NHC THEN PRINT MS2$: RETURN

IF Al$="+" THEN 3780 ELSE IF Al$="" THEN 3770 ELSE PRINT MS2$: RETURN
FOR N3=N1 TO NHC-2: SWAP H$(N3),H$(N3+1)>: NEXT: NHC=NHC-1: RETURN

IF NHC>=MHC THEN PRINT MS1$: RETURN

FOR N3=NHC TO N1+1 STEP -1: SWAP HSIN3) ,H$IN3-1>: NEXT

NHC=NHC+1: H$IN1>=MIDS(S$C0>,N2>: RETURN

'

V===COMMAND EXECUTION===

L]

AM=0: GOSUB 2790: Al$=LEFT$(SS$CO>,AML>

N1=AM2-AM1-2: IF N1>=1 THEN A2$=MID$(S$C0>.AM1+2,N1> ELSE AZ23="'"
IF Al$="quit'" THEN END

IF Al1$="List" THEN IF NHC=0 THEN RETURN ELSE 3940

IF Al$="LLlist" THEN IF NHC=0 THEN RETURN ELSE 3990

IF Al$="new' THEN IF NHC THEN <4000 ELSE RETURN

IF Al$="trace" THEN TS=VAL(A2%$): RETURN

IF Als$="Load" THEN OPEN"I".H1l. A2$%$: GOTO 4010

IF Als$='""save" THEN IF NHC THEN 4040 ELSE RETURN

IF Al$="hard" THEN HARDC: RETURN

IF Al$="free" THEN PRINT '"Space size": STR$(FRECO>>:;".": RETURN
PRINT "Command error.': RETURN

N1=VAL(AZ2$>~1: IF N1<O THEN N1=0 ELSE IF N1>=NHC THEN N1=NHC-20
N2=N1+19: IF N2>NHC-1 THEN N2=NHC-1

FOR N3=N1 TO N2: PRINT MIOD$(STR$(N3+1)>,2>: H$(N3Z): NEXT: RETURN
FOR N1=0 TO NHC-1: LPRINT MIDSC(STRS(N1I+1>,2>; H$(N1>: NEXT: RETURN
FOR N1=0 TO NHC-1: H$(N1)="": NEXT : NHC=0: RETURN

IF EOFC(1> THEN CLOSER1: RETURN

IF NHCOMHC THEN PRINT MS1$: CLOSEH1: RETURN

LINE INPUTH1, H$INHCY>: NHC=NHC+1: GOTO 4010

OPEN"O".H1, A2%: FOR N1=0 TO NHC-1: PRINTHL., HS(N1>: NEXT: CLOSEH1: RETURN



